] 023-81880[8] -

NUMBER

NEWALL

ED—2768/10
Angle 3x3” (1)

Cable Ties (10)

M6 x 20 Cap Head
Screw (10)

M5 x 30 Cap Head Screw (2)

M5 x 20 Cap Head Screw (2)

M4 x 20 Cap Head Screw (4)
M6 Nut (2)

ED—2768/2
Flat Plate Slotted (1)

ED—2768/3
Flat Bar (1)

DO NOT SCALE | ~@ ~ -3~ THIRD ANGLE PROJECTION|IF IN DOUBT ASK

Kit Contents
Universal Bracket Kit 2 - Metric
Part No: UBKO2-M

This kit mounts one Spherosyn/SHG/DSG
and One Microsyn /MHG Reader Head

294—35550
Micro Plate (1)

294—35540
Micro Angle (1)

M4 x 25 Cap Head Screw (4)

M4 x 12 Grub Screw (4)
M4 Washer (4)

M5 Washer (4)
M4 x 10 Cap Head Screw (4)

M6 Washer (12)

note: some modification of brackets
may be necessary during installation.

TOLERANCES: — 0 DECIMAL PLACES 0.5
1 DECIMAL PLACE +0.2
2 DECIMAL PLACES £0.1

MATERIAL /FINISH. SCALE | UNLESS OTHERWISE

TITLE.

KIT CONTENTS UBKOZ2—M

N/A STATED: —
DIMENSIONS ARE IN M.M.

ANGULAR +1°

THIS DRAMING IS THE PROPERTY 0F

7 [10Jifis | 9451 | CHANGED TO METRIC KIT

CWh

prAWN| C.WHITMORE | 08-01-14

CHECKED

Leicester

APPROVED

NEWALL

or s e | 025~ 81880]ss| 1

1 OF 1

NEWALL MEASUREMENT SYSTEMS LIMITED.
THE INFORMATION THEREON MAY NOT BE COPIED OR USED
WTHOUT WRITTEN PERMISSION

England

REV.ISS.[DATE|C.N.Nof ALTERATION




e 023—818801s] 7 DO NOT SCALE | ~@) - =1 THRD ANGLE PROJECTION{IF IN DOUBT ASK
Kit Contents
N EWALL Universal Bracket Kit 2 - Metric
Part No: UBK02-M
,\2,]94_3254|O (1) ED—2768/2 294— 35550
cre Angie Flat Plate Slotted (1) Micro Plate (1)
TAP M4 4off 75.0 » 75.0 |
X o |25.4(1 ) /4 OFF M6 HOLES 475 | 65.5 G.ii(o.f")
\ | | g : = = 132 / TAP M4 THRO—6off | 140 47.0 AP M6 THRO.—20ff
- ¢ n & el ! % 20 105 \ -
s $|_l5 = = / REENEP & 8
s 704 || i o @ o | Fdeté R =
0 20.5| 34.0 Ny o Q) A R3.0
23750 " 655 | 6.35(0/25") N i E "[] -JJLI o
2.37se—| 655 & D '\_f_ o EIB e | 8 =
:E} 'E} ' < \_15> 0.d 34.0 cJ:
SLOT 4.5x8 — 2off I | I | | | 0.4 54.0
| | |
ED—2768/3 294—-98300
Flat Bar (1) Angle 2x2" (1)
3 8, 34.0
' ! | L-*I _
4 OFF M6 HOLES B i | ?_g ©
118
9.5(3/8") 34.0 74 ]Z " ?
~T 49[ | 34.0 18'OI
il |:| R - e ke ststa. . - o o1 I
/ 34.0 50 T . o 7.0
2 OFF M5 HOL n :_l')
132 @ e
4 OFF M6 HOLES/
TITLE. MATERIAL /FINISH. SCALE | UNLESS OTHERWISE  TOLERANCES:— 0 DECIMAL PLACES +0.5
K/ 7_ CO/\/ TE/\/ 7_5 UBng—M ______________________ N/A STATED: — 1 DECIMAL PLACE 0.2
DIMENSIONS ARE IN M.M. ? [jﬁ%‘m PLACES 1011
7 [0/065] 9451| CHANGED TO METRIC KIT CWh [orawn| CWHITMORE | 08-01-14 1S DRAC K TE RIPERDY OF SHEET [DRAWING REV.
REVJSS.|DATE|C.N.No] ALTERATION oD LeicesterNEWALLEngland THE INFORIATON HERCIN A NOT EEXOPED R USD— |4 oF 1 | NUMBER 023_ SW 880 ISS. W




DRAWING
NUMBER

025-81880]ss]

Spherosyn /SHG/DSG Series

NEWALL

DO NOT SCALE

~@ - =~ THRD ANGLE PROJECTION|IF IN DOUBT ASK

Kit Contents

Universal Bracket Kit 2 - Metric

Part No: UBK02-M

Spherosyn /SHG/DSG Series

Microsyn /MHG Series

—

Tapped Holes May Need

|| , to be Enlarged for Clearance
vd /ED—2762/3

@III

PHEROSYN —
ENCODER L

ED—2768/4

ED-2768/10
OR 294-98300

——
B ED—2768/2\ L 11 [

- N4

EN
\

nsert M4 Set Screws
and Adjust As Required

Bl

&

Microsyn /MHG Series

J 0

/ED—2768/2

294-35550
@) [¢]

©)

@ |

Spherosyn /SHG/DSG Series

ED-2768/10
294—-35550

_O

TITLE.

KIT CONTENTS UBKOZ2—M

MATERIAL /FINISH.

SCALE
N/A

UNLESS OTHERWISE
STATED: —

DIMENSIONS ARE IN M.M.

TOLERANCES: — 0 DECIMAL PLACES 0.5
1 DECIMAL PLACE 0.2

2 DECIMAL PLACES 0.1
ANGULAR 1"

7 |0

9451| CHANGED TO METRIC KIT

RN

CWh  [orawn| C.WHITMORE | 08-01-14

REV.ISS.[DATE|C.N.Nof ALTERATION

CHECKED
APPROVED

NEWALL

Leicester

England

THIS DRAWNG IS THE PROPERTY OF
NEWALL MEASUREMENT SYSTEMS LIMITED.

THE INFORMATION THEREON MAY NOT BE COPIED OR USED
WTHOUT WRITTEN PERMISSION

o e | 023—81880]ss]




